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27 Calculate the total earnings of three workmen under the Halsey and Rowan plans ; the bonus
under Halsey plan is 50% of the time saved. 3

Standard time — 20 hours
Hourly rate of wages Rs. 4
Time taken by A-16 hours ; B-10 hours ; C-8 hours

28 900 units were introduced from process X to Y at a cost of Rs. 60 per unit. The expenses of the
process were - Labour Rs. 12,000, Materials Rs. 3,240 and overhead at 50% of labour. Normal
wastage expected in the process was 10% of the units introduced to the process with a scrap
value of Rs. 8 per unit. The actual output of the process Y was 820 units to be transferred to
the Process Z. Prepare Process Y Accoun!:, Abnormal gain account and Normal Wastages
account.

: (5 x 2 = 10 weightage )
IV. Answer any two : o3

29 A company has three production departments and two service departinents, and for a period
the departmental distribution summary has the following totals : :

Production Departments : A-Rs.80,000; B - Rs. 40,000 ; and C - Rs. 20,000
Service Departments : X -Rs. 20,000 and Y - Rs. 10,000
Expenses of service departments are to be allocated as follows :
A ‘B C X Y.
X 20% 30% 40% — 10%
Y 20% 25% 50% 5% —

Work out the final overhead cost of each of the production departments including re-apportioned
cost of service centers using simultaneous equation method.

30 From the following information prepare a cost sheet of Glaxo Ltd. showing the cost 6f production
and profit per unit. 3

Units produced : — 100

Units sold — 80

Direct materials consumed —  Rs, 400 per unit
Direct labour hours worked  — 1000

i-Iourly rate of labour — Rs. 10

Factory overheads —  Rs. 5 per labour hour
Office overhead —  10% of works cost
Selling overhead —  Rs. 15 per unit sold
Margin of profit : — 20% on selling price

Turn over






